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Sociology
Paper III

HHTSTIMTE
wyuEreRT 111

Time Allowed : 2% Hours] [Maximum Marks : 150

Note : This Paper contains 75 multiple choice questions. Each question carrying
Two (2) marks. Attempt All questions.

AT 2 I GRACEhG THY 75 SguaiEdl 9 ol Sed. goeh TRl ] () YU SR
g Ty grea.

1. Which one of the following depicts | 1. ‘wrd= fafauda wwar’ a1 JeEc <9F

a bond of ‘Unity in Indian I e FOTG A2

Diversity’ ?

(A) wiffu wieq e7ifor &Y. st
(A) Shopping Malls and IT hubs

(B) YRaT= TSeeAl oMful |ikhideh

(B) The Constitution of India and
IR TS
Cultural Heritage Sites

(C) YA Odeh=ar=a1 AW
(C) Charter of Demand of Indian

g
Farmers

(D) Civil Society movements D) weerEr foRiet TRt garer

against corruption dasded

[P.T.O.



Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).

Assertion (A) : Emergence of
capitalism in agriculture has

benefited the rich peasants.

Reason (R) : The rich peasants

dominate the society and economy

in the countryside.

In the context of the above
statements, which of the following

is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true, but
(R) 1is not the correct

explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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feort am®
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(A) (A) 30T (R) Sl sRIEX 3ATed AT

(R) T (A) 3 3T TSR 378

(B) (A) A1 (R) =1 =X 3ARd W

(R) § (A) = 3T9g%h TISIHI
Bl

(C) (A) T SR 3T W (R) T I 3T

(D) (A) T I 318 T (R) T e 378




‘National Technology Mission of

India’ propagates :

(A) Quality training for Space

Scientists

(B) Special facility for the nano-

technologists

(C) Expansion of ICTs and
vocational training among the

rural youths

(D) Second phase of industrial

revolution

Who among the following has offered
six-fold classification of traditions
for evaluating social change in

India ?

(A) Yogendra Singh
(B) M.N. Srinivas
(C) McKim Marriot

(D) S.C. Dube
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‘e STt favm e sfean’

Gk I STel=l YHR hid ?

(A) ST dfRTEre! Jureargof

EINE

(B) I THIHEE e gfae

(C) TTHIOT qeunHey 7.3 =n foar

0T ATk FiRIeTo

(D) 2iEifiTeh Shidrar gE <ol

Wetedsh] v TRATdIA  GTHT SR

IR JedTeh Ml IO FRIuad]

TR B IR ?
(A) T &

(B) T, #ifama
(C) Hferr dRete

D) T @
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The phenomenological approach to

study society emphasises on :
(A) Economic determinism
(B) Cultural determinism

(C) Causal explanation of the

phenomena

(D) Indepth understanding of the

phenomena

A major effort to review structural-
functionalism theory under the
heading neo-functionalism consists
of :

(I) To indicate continuity with

structural-functionalism

(IT) To extend structural-functiona-

lism
(ITI) To overcome its difficulties
(IV) To modify according to need

Select the correct answer from the

codes given below :
Codes

(A) (IV) only

(B) (I), (IID) and (IV)
(C) (II), dII) and (IV)
(D) (I), (II) and (IIT)

5.
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UNT=AT  ASATEIAA SEARTS

o~ N

qSEIhIA HITCAl 6H Heedl g

e ?

(A) o7 fofeER

(B) WiEhfae fvioem

(C) ==l HRUTHAMT TR
(D) === HE ey

TI-YehTdare a1 fRTsehrarell =R -

Jehriale FIGMMET STeEl Svar=a TiE
T IO STeel FHER el 2

(I) G -YhTHaRTE Gided <gifed

(I1) EEAcHS-Yehrde foaerid ol

(III) = TSIV ded JvAHIS!
(IV) 3Teedehd JHIO FHROM hI0|

N e N

Erelt feeiean Fehdrgd Ara W faer -

-
-
-

(A) (IV) e

(B) D), AI) zufor (IV)
(C) (D, (IID) awfor (IV)
(D) (D), D e7for (110




Who has stated ‘Gender’ as an

analytical category ?
(A) Helene Cixous
(B) Ann Oakley

(C) Germaine Greer
(D) Michell Barrett

Patriarchy involves men’s control

over :

(A) Women’s labour, sexuality and

mobility
(B) Entertainment patterns
(C) Voting and elections
(D) Women’s genetic abilities

Who among the following
propounded the concept of

‘globalization from below’ ?
(A) Kellner
(B) Stiglitz
(C) Giddens

(D) Appadurai

FEB - 14313/III
‘fermura’ & Tk Fgifio wE TR, S
HOT WEd ?
(A) B FH
(B) 317 sfiehed
(C) A T3

(D) faeret sRe

(A) T sm, wiffeear o Tdteierd

(B) HARSHME 1qeY

(C) HdeH 9 THareuren

(D) fom=n & e

WeATeTteh! v  GeaIeh g STTfdeh [T’

& Hehou T Higel ?
(A) e

(B) fenfaew

(C) firew

(D) STHGTS

[P.T.O.



10.

11.

(@)

(b) Village Communities in

(c)

()

According to Malthus, war is a

............. for the population.
(A) Positive checks

(B) Preventive checks

(C) National calamity
(D) Destructive exercise

Match List I with List IT and select
the correct answer from the codes

given below :

List I List II
(Books) (Authors)
Indian Village (1) M.N. Srinivas

(ii) Andre Beteille
the East and West
Village India (@ii) S.C. Dube
India’s Village (iv) McKim Marriot

(v) Henry Maine

Codes
(@) b) (c) (d)
A @ G (i7) @iv)
B) @) () (iv) @)
© @ (@) (t1i) (v)
D) @) () (iv) 7))

FEBR — 14313/T11

10. HeUH= Hd, J§ & ARHEATIE! hIv
TR STy A ?
(A) JIg ey
(B) ufdaees stady
(C) T Hahe
(D) faearas e
11. Ecia a6l 19 a1 7| e
SN ofren S fSetesn Hehdiqd A
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(@) (b) (c) (d)
A ) €279) @i1) (iv)
B) @) (iv) @)
< @ (i) €279) (v)
D @) (iv) (i1)




12.

13.

14.

15.

Who of the following is not associated
with the debate over ‘mode of
production’ in Indian agriculture ?

(A) Ashok Rudra
(B) Utsa Patnaik
(C) Jairus Banaji
(D) Milton Singer

Tebhaga movement took place in
which of the following Indian
states ?

(A) West Bengal
(B) Kerala

(C) Andhra Pradesh
(D) Punjab

Who has given the ‘cyclical theory
of population growth’ ?

(A) Spencer
(B) Ginni

(C) Dumont
(D) Doubleday

Name the major sociologist in India
consistently wusing dialectical
historical method in sociological
studies ?

(A) R.K. Mukherjee
(B) D.P. Mukherjee
(C) M.N. Srinivas
(D) A.R. Desai

12.

13.

14.

15.
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aRdra wfufasas Icarga gone
gadfi=n gftgda wretatst wio

RCIERE
(A) 3T &3
(B) 31 UAEH
(C) SIX™ TSIt
(D) facea faFR

WA ETeilciueh] ShIoTel JeaTHed
faqurm T el ?

(A) 9fy=H e
(B) &
(C) 3ATY Y

(D) Y<Ta

AR EEA dlerdl IR fagra o
qrean ?

(A) TR
(B) Tt

(C) =t
(D) SIS

HRAT ShI0T YHE THSRIS 3T i
ST USRI ASIEG §EIHh
ifderges  Ygdar 9 aTW

el ?
(A) R, HErsH

(B) Sr.dt. gasi
(C) TH.TA. giftam

(D) T.3AN. <HE

[P.T.O.



16. Match List I with List IT and select

the correct answer from the codes

given below :

List I

(Books)

(@) The Coming of the Devi (i)

(b) India’s Changing Villages (ii) Ghurye

(¢) Homo Hierarchicus

(d) 1 and other Explorations (iv) Dumont

Codes :

(A)

(B)

(®)

(D)

(@)

@)

@)

@)

(tv)

)

(iv)

(€222

(iv)

(€222)

List II

(Authors)

David Hardiman

(c)

(i)

(v)

(i)

@)

@i) S.C. Dube

(d)

(i)

(i)

(i)

(i)
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17.

Given below are two statements, one
is laballed as Assertion (A) and the
other is labelled as Reason (R).

Assertion (A) : Growing regional
disparity in economic development
is a major challenge to political

unity.

Reason (R) The impact of
globalization has contributed
significantly for the growth
of regional disparity in

development.

In the context of the above
statement, which one of the

following is correct ?
Codes

(A) Both (A) and (R) are true, but

(R) is not the correct

explanation of (A)

(B) Both (A) and (R) are true and
(R) is the correct explanation

of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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(B) (A) 31for (R) sisR 31=d 371 (R)
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(C) (A) & =R &, WY (R) & I
e

(D) (A) T T 3T, WG (R) & SR
15

[P.T.O.



18. Deviance is a relative concept,

19.

because

(A) Crime and delinquency are the

most obvious forms

(B) It varies from time to time and

place to place

(C) Deviant today may be defined

as normal in the future

(D) It usually refers to those
activities that bring general

disapproval from members of

society

The concept of depeasantisation is

associated with

(A) A. Chayanov
(B) K. Marx
(C) V. Lenin

(D) M. Weber
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18. fo=e & U el ddheudl IR,

19.

(A) =1 ST SO § Hald T YehR

aTed

(B) d FIeeJHR MU TIRBTIR FSeld

T

(C) S S fa=e TSl Sd o vfasama

OH ddT 3% ITehd

(D) <t SIgen TR Hdt=m e A Hi
) GUNTA 9T TIaTE=99)

STHI AHdld

TFHEHIHIUT & Hhoudl TeTerdeh]

SRR Heifad smg ?
(A) T =R

(B) %. W

(C) =& afm

(D) TH. IR

10
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20. ‘Fertility varies inversely with the | 90. ‘ys+ ® diaE=a s q=n fovg el
density of population.” Whose view S Qe Y a2
is this ?

(A) HeI"
(A) Malthus
(B) Durkheim (B) <T@
(C) Saddler (C) HeeX
(D) Castro (D) HEI
21. The National Population Policy in | 21. YRAWA TS TAREE GROT HIMMeA
RSk ?
India encourages : G
(A) §IF Hd
(A) Joint family )
(B) favwed e
(B) Nuclear family (C) YEUHEA UMHU 9rmwe Fom
(C) Urban to rural migration T
(D) T 9ATREA  IEUhS BN
(D) Rural to urban migration T

22. Who argued that delinquency is a 99, TR @ SRR We T Qe AR,

collective rather than an individual
3T el IO Thedl e ?

response ?
(A) Robert Merton (A) Ve 7
(B) Cloward and Ohlin (B) Ffag anifor sifer
(C) Albert Cohen (C) 3Tooe hied
(D) Walter Miller D) dfe e

11 [P.T.O.



23.

24.

25.

Who the author of ‘The

Future of the Underdeveloped

is

Countries’ ?

(A) Hobhouse

(B) Eugene Stanley

(C) Karl Marx

(D) Bottomore

Alienation is a feature of a :
(A) Capitalist society

(B) Socialist society

(C) Feudal society

(D) Communist society

Which one of the following is a

feature of ‘division of labour’ ?

(A) Democratization of activity with

worker’s participation

(B) Routinization of authority in

production process

(C) Centralized control

over

production by industrialists

(D) Specialization of activity with

appropriate co-ordination

23.

24.

25.
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‘T R AE T FSERAE helsl Il
q&IehTa @S 0 ?

(A) TIoRISHH

(B) I VT

(C) A g

(D) <ifeHR

'CREEHT %. ................... % .@ é.ﬁ.l.@
R,

(A) YISIAIME THS

(B) HHISEET THS

(C) TR THS

(D) HIERT HHIS

GTcAteTdsh] hIvd * gafavreHrg dfysey’

AR ?

(A) H1IA, HTHA=AT  FEWTR

NIETUHEZY

o~

(B) 3UIEH Glsh

DGR B EAr e Rt CEu|

(C) SESIHRIGR STIRATSRIA HaTYd
[EREL

(D) 3 WEAMMER shrar fermisiento

12
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26. Who defines “white-collar crime as | 26. ‘‘3I=3 9IS S AT 3TET STHIAT
Crimes committed by persons ATeRT = S aeh hRfhald sheld]
of high social status and ﬂ% S fﬂ%‘@ﬁ."?ﬂ?ﬁ
respectability in the course of their ot B S 2
occupations” ?

(A) TaE dHL
(A) Howard Becker

B) Tsfom THR
(B) Edwin Lemart (B)
(C) Robert Merton (C) e w2
(D) Edwin Sutherland (D) Tsfad Tt

27. ‘India Against Corruption’ is 27. Sfea S sHywr gL A&-
focusing on : Higd ®a TR
(A) White-collar Crime (A) TeTRT TR
(B) Violent Crime (B) feus T=
(C) Criminal Mentality (C) =R HHAH
(D) Food Adulteration (D) &= %%z

98. Within the life world who | 28. SIS SHaHed ‘SR’ o Q' Helemd <hroit
differentiated between ‘we’ and ‘they’ Tlh cifacienl 318 ?
relations :

(A) TIEH
(A) Habermas ’
(B) STerRiel
(B) Alexander
(C) Cooley (C) =
(D) Schutz D) F
13 [P.T.O.



29.

30.

31.

What
GDP

proportion of India’s

comes from Industrial

Sector ?
(A) 13%
(B) 23%
(C) 53%
D) 73%

What is the central concept within

structural approach ?
(A) Social structure
(B) Sub-groups

(C) Role occupant
(D) Interaction

Who stated that ‘Phallocentric’
language reproduces male world

view ?

(A) Helene Cixous
(B) Ann Oakley
(C) Bell Hooks

(D) Germaine Greer

29.

30.

31.
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ORI A FA ScareAT

(GDP) fowdt fewm sirenfre &=mqa
I ?

(A) 13%
(B) 23%
(C) 53%

D) 73%

LTS GSeIhIATd iU Hhodl

higd R ?

(A) HEIfSR A
(B) 3S9-49Hg

(C) gfFsh ¥R+
(D) SAeRfsH

‘Phallocentric’ WIS &S SaAgsa
@ yfquied <RIl

qFEced  hid,

%l ?

(A) BT
(B) 3 kRl
(C) o g
(D) A R

14



32. Given below are two statements, one

is labelled as Assertion (A) and the
other is labelled as Reason (R) :

Assertion (A) Many core
sociological issues afflicting society
were neglected in Indian sociology
as they do not fit in the western

sociological paradigm.

Reason (R) : The strong influence
of western sociological theories,
concepts and methods was the main
challenge for indigenization of

sociology in India.

In the context of the above

statement, which one of the

following is correct ?
Codes :

(A) Both (A) and (R) are true, but
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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32. el < faum feodet Rd T

faem™ (A) 37for gE=a fa9™™ R (R)
3 Fargel WA

o @

IR YHE FHSRTS Yol IR

: gUSel 9RO shIum=

SHISRITHAI gt’{lr\?dd h{UY[d HlcHl, Y]

qY=Tcd HHSISMEE §Seiehivrd ol

RIR LN BRI |

HROT (R) : Y¥ET THSRTST fagid,
TeheuAT MO TGt AT W9ret aiomd

TN Teh YohR ARATdA THISTITEATEAT

TSR iudial gq@ 3eeE 2ld.

ST fauMrEeYid @reiicaiush! hivld

AR AR d GET.
Hahd

(A) (A) 3T (R) T2l sRIeR 3Ted, T

R) T (A) TgH TICH AR

(B) (A) 3mfor (R) ® SsR 37red 37for
R) T (A) ¥ Th TR S

(C) (A) & =R R, WY (R) & I
e

(D) (A) T & 3T, WG (R) & SR
15

15
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33.

34.

35.

Whom does Ghurye consider
‘Backward Hindus’ ?

(A) Scheduled castes
(B) Tribes

(C) Backward classes
(D) Mahadeo Koli

In the wake of globalization trade

unions have shown :
(A) an increasing trend
(B) a declining trend

(C) a trend of globalization of local

issues

(D) a trend of co-option by political

parties

In the wake of globalization
emphasis has been on the expansion

of education through extensive use
of :

(A) Information and

communication technologies

(B) Available infrastructure

(C) Non-profit civil society

initiative

(D) Indigenous resources

33.

34.

35.

FEB - 14313/III
TH wIn gqEen CArEes &g

(A) STIFHI it
(B) Tt

(C) ArTHe it
(D) #RIGE hicdl

STRTTAeh SR LOT=AT Hevid hTATR Tl

(A) dTedl ohel

(B) ¥l et

(C) T YIAT=AT SITTTdeh R ToTT=
el

(D) USRI GRS FHHI RO
hed

STTfashteRTo=ar gfsraa fereromr=an

~

FoRRIeR 0T SIS ShIve M= YT

I HLoATT AT 3:"%' ?
(A) wifedt 9 FYOO TRIH
(B) SUcTsy 9rEgd gfaen
(C) hifefed 38 TRl HHNTE Jae

(D) eI GEEA

16
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36. Centre-Periphery model belongs | 3¢. w@reficidsh! HIocd W $<-909
to which of the following i Tt o 2
traditions ?
(A) SNYfTenTeRo giRgeel
(A) Modernization paradigm
(B) Dependency paradigm (B) :
(C) World system paradigm (C) wmfaeh-saeareen IRge
(D) Gandhian paradigm (D) e aRgsd
37. Dependency ratio is the ratio of .
P d 37. STECifed YH WUN
people :
(A) of non-working ages to those of (A) -k crhia o arewien
working ages
FHAA THIT
(B) Who are physically dependent
(C) Who are a burden on the (B) WRIfthgeen sTefciferar o
society ..
(C) HHSR YR 3HUATE JH0
(D) Who are under the age of 18
years (D) 18 T JAECA i JHII
38. Who are said to be the original | g5 e Tz Ifeardt wIoTen Teed
inhabitants of India ? g ?
(A) Buddhists (A) &s
(B) Hindus (B) &g
(C) Tribals (C) s
(D) Jains D)
17 [P.T.O.



39.

40.

According to Peter Berger and
Luckmann social construction

processes include :

() Externalization
(IT) Objectification

(ITI) Internalization
(IV) Subjectivity

Select the correct answer according

to the Codes given below :
Codes

(A) (D), (II) and (III)

(B) (IID), (II) and (I)

(C) (D), (IV) and (IID)

(D) (ID), (III) and (V)

In which of the following place the
acute problem of child malnutrition

has taken place ?
(A) Nandurbar
(B) Thane

(C) Melghat

(D) Jalgaon

39.

40.

FER — 14313/III
fex aei i SehEA AT HATHHT
TS ToHd hIV-hI0TA] ST

TEEEl B ?
(I) =fefashio
(IT) STEgfTsadTehIu
(I11) 3T o
(IV) SHferifTsad

Gt feeiean Hehdrgd 3fad W faer -
Hehd

(A) (D), A1) e7for (1ID)

(B) (III), (IT) sfur (I)

(C) (D, @V) swfor (I1D)

D) (ID), D) 3ufor (IV)

EeTeTdeh! hivre fashTof STeTeRaTsIoT=i

YR g9e gvaet ?
(A) TgER

(B) 3

(C) Hezde

(D) S
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41. Given below are two statements, one

is labelled as Assertion (A) and the
other is labelled as Reason (R) :

Assertion (A) : Slums in India
depict high incidence of crime and

delinquency.

Reason (R) : High incidences of
poverty, illiteracy, lack of social
control and livelihood insecurity
push the slum dwellers take recourse

to crime and delinquency.

Choose the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are correct

and (R) 1is the correct

explanation of A

(B) Both (A) and (R) are correct but

(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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41. @l THh faad (A) 9 T &RO (R)

faer

faam @ : YRAA o 9% Tw
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oo N
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-

(A) (A) T (R) Tl seR 3Ted 9 (R)
T (A U TR AR

~

(B) (A) 9 (R) I=I IR 31ed, R (R)

T (A O TR TR AR
(C) A X MR Wg (R) &
3T

(D) (A) FHE 3 WG (R) § IR
3T
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42.

43.

44.

45.

Valuable, practical services that help
to preserve ecosystems performed by
nature are called :

(A) Biological control

(B) Biosphere balancing
(C) The greenhouse effect
(D) Ecosystem services

How many distinct realms of social
reality have been identified by
Schutz ?

(A) Two
(B) Three
(C) Four
(D) Six

Who among the following has
suggested ‘March towards the
villages’ for the initiation of
development process ?

(A) A.P.J. Abdul Kalam
(B) Mahatma Gandhi

(C) Pandit Nehru

(D) Babasaheb Ambedkar
Ethnicity is a :

(A) Cultural construct
(B) Economic construct
(C) Regional construct

(D) Legal construct

42.

43.

44.

45.
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46.

47.

Which feminist perspective
states that violence is the main
strategy to ensure domination of

women ?

(A) Liberal Feminism

(B) Socialist Feminism

(C) Marxist Feminism

(D) Radical Feminism

Population explosion means............

(A) Increased rate of births

(B) High birth rates and high death

rates

(C) Drastic shift in the balance
between birth rates and death

rates

(D) Increased rate of death

46.

47.
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48. Which one of the following is not a

49.

hindrance for nation building in

India ?

(A) Poverty, unemployment,

illiteracy, illhealth

(B) Caste, class, gender, rural-

urban and digital divides

(©)

Regionalism, terrorism and

violence

(D) Social change, climate change

and technological change

The Birla-Ambani Report on Higher

Education :

(A) Increasing engagement of the

state with higher education

(B) Withdrawal of state from higher

education and increasing

private sector in higher

education

(C) Reactivation of teachers’ and
students’ association in the

university campuses

(D) Discouraging public-private

partnership in higher education
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50.

51.

52.

53.

Post-modernism emphasizes

on :
(A) Difference
(B) Similarity
(C) Emancipation
(D) Welfare State

Expansion of slums in India is
linked to :

(A)

Increase in rural literacy
rate

(B) Increase in urban infra-

structure
C)
(D)

Regionalism refers to :

Increase in rural poverty

Decline in urban poverty

(A) An extreme loyalty to a
particular region

(B) A feeling of regional differences

(C) A feeling which strengthens
national unity

(D) A hatered towards own’s region

Which one of the following is not a
feature of Gandhian Model of
Development ?

(A) Social Trusteeship
(B) Non-violence
(C) Constructive social work

(D) State ownership of means of
production

50.

51.

52.

53.
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54.

55.

56.

Those who operate organized
crime

(z) Belong to the economic and
political elite

(11) are within the ruling class who
profit from crime

(zii) are white-collar criminals

(fv) are businessmen

Select the proper codes :

Codes :

(A) (i) and (iii) are correct

(B) (ii) and (iv) are correct

(C) (ii) and (iit) are correct

(D) (@) and (it) are correct

Gender Budget is an exercise to

ensure :

(A) Equality in allocation of funds

(B) dJustice to women

(C) Women are not oppressed

(D) Men are exploited

In the context of India, modernity

implies

(A) Replacement of tradition by

modernity
(B) Reinforcement of traditionality
(C) Redefining tradition in

new context independent of
modernity
(D) Co-existence of traditional and
modern values, arts, culture and

institutions

54.

55.

56.
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57.

58.

Phenomenological sociology focuses

on :
(I) The meaning of social situation
(II) Production of social situation
(IIT) Experiences in everyday life

(IV) Objectivity

Select the correct answer according

to the code given below :
Codes :

(A) (I), dI) and (IV)

(B) (D), ) and (III)

(C) (II), (III) and (IV)

(D) (II) and (I)

Eco-feminism highlights :

(A) Deconstruction of language

(B) Gender-just development that is

sustainable
(C) Women’s property rights

(D) Freedom from exploitation

57.

58.
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59.

60.

61.

Who has offered the concept of the
‘Globalization of Nothing’ ?

(A) Ritzer

(B) Kellner

(C) Giddens

(D) Frank

The world system theory is a
historical description of the growth

of :

(A) Political system

(B) Social system

(C) Capitalist economic system
(D) Cultural system

Who is the author of ‘Modernity at

Large : Cultural Dimensions of

Globalization’ ?
(A) Giddens
(B) Appadurai
(C) Stightz

(D) Bauman

59.

60.

61.
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62. Domestic Violence Prevention Act N e . . . -
62. wiEfadeh fEHER  gfqdy  wHEcu™
has resulted in :
................. .qﬁu.“.q. ﬁ_ga.m.
(1) Complete prevention of
domestic violence (1) *rEfoek R qof giqe
(2) Legal solution of this problem (2) A HHEIR HEGIIN U
(3) At least cognizance at legal (3) TFAM FEETEN ISR @
level o e . o -
(4) chiglden T HIHRITAMAl HIHITSlh
(4) Raising social awareness about
¢ STforersydrd sie
prevalence of domestic violence
AR I Gohd TEeT
Select the code of correct answer :
(A) (1) and (2) are correct (A) (D) 7 (2) TR e
(B) (2), (3) and (4) are correct (B) (2), (3) 9 (4) T 3T&d
(C) (1), (2) and (3) are correct (C) (1), (2) T (3) =R T_d
(D) (3) and (4) are correct D) 3 T @) T
63. Who coined the term ethno- - . . .
63. CIRIEIISATES & T vl HASedt ?
methodology ?
(A) Peter Berger and Lukmann (&) To2 TR S
(B) Goffman (B) TMwHA
(C) Garfinkel (C) Tred
(D) Husserl (D) &5
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64. Match List I with List IT :

List I

(Concepts)
(a) Agency and structure
(b) Knowledge and Power
(¢c) Ideological State
Apparatus

(d) Deconstruction

Select the correct answer from the

List II

(Thinkers)

(z) Foucault
(it) Althusser

(zi1) Derrida

(tv) Giddens

codes given below :

Codes

(a) b)
A O @)
(B) (@) (@)
©) @) (@)
D @ (23]

65. Neo-Marxism is a reaction against :

(A) Excess of economic determinism

(B) Conflict
(C) State

(D) Authority

(c) (d)
@ @)
@) @)
(i0) (i11)
(iv) (i11)
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66.

67.

68.

The theory of development which
suggests that societies more away

from traditional organisation is
called ...................

(A) Westernization theory
(B) Modernisation theory
(C) System theory

(D) Dependency theory

“Modernization is essentially based
on ‘a rationalist and positivist
Who has made this

statement ?

spirit”

(A) Eisenstadt
(B) Myron Weiner
(C) N.J. Smelser
(D) Daniel Lerner

Which of the following land tenures
introduced during British period in
India refers to village-based land

ownership ?

(A) Zamindari system
(B) Mahalwari system
(C) Ryotwari system

(D) Customary system

66.

67.

68.
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69. Which of the following is not
associated with 73rd Constitutional
Amendment ?

(A) Periodic election in every

5 years
(B) Alleviation of rural poverty
(C) Constitution of Gram Sabha

(D) Reservation for women, SCs
and STs

70. Match List I with List II :

List I List II
(Villages) (Sociologists)
(@) Kisangarhi ()  F.G. Bailey
(b) Sripuram @ir) William H. Wiser
(¢) Bisipara (iii)  S.C. Dube
(d) Shamirpet (v) McKim Marriot

) Andre Beteille

Select the correct answer from the

codes given below :
Codes :

(@) b) (c) d)
A @ (iv) (€73 (v)
(B) () ) @ (ii7)
< @ (iv) (ii1) (i0)
D) () ) (i) (ii7)

69.

70.
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71.

72.

The philosophy of phenomenology

focuses on :

(I)  Consciousness

(II) What people think ?
(ITT) What people do ?
(IV) Social structure

Select the correct answer from the

codes given below :
Codes

(A) () and (IV)

(B) () and (ID)

(C) (D), (II) and (III)
(D) (@), dID) and AV)

Which theory focuses on mutual
constitution of structure and

agency ?

(A) Structuralism
(B) Structuration
(C) Post-modernism

(D) Ethnomethodology

71.

72.
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73.

74.

75.

The concept of Lifeworld includes :
(I) Inter-subjectivity

(IT) Typification

(ITI) Recipes

(IV) Stock of knowledge

Select the correct combination
according to the code given
below :

Codes

(A) (I, (I and (III)
(B) (ID), (III) and (IV)
(C) (I) and (1II)

(D) (III) and (IV)

Who said, “Neo-functionalism is a
tendency rather than a developed
theory” ?

(A) Derrida

(B) Foucault
(C) Alexander
(D) Habermas

The theory of public sphere by
Habermas refers to :

(A) Discussions among bourgeoisie
over public issues

(B) State
(C) Industrial areas

(D) Political parties

73.

74.

75.
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